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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

Animal husbandry is the branch of agriculture ----eeceeeeeeee with animals that are
raised for meat, fiber, milk, eggs, or other products.
1) handled 2) concerned 3) included 4) interfered

Named by Portuguese explorer Ferdinand Magellan, who believed it to be free of
---------- -- storms, the Pacific Ocean is not, in fact, so pacific.

1) violent 2) distant 3) temporary 4) pointless

Animal rights is not just a philosophy—it is a social movement that ----e-eeeeeeee-
society’s traditional view that all nonhuman animals exist solely for human use.

1) asserts 2) magnifies 3) distinguishes 4) challenges

If people can raise enough fish on farms, it stands to --------ee=-—— that they will be
less inclined to hunt them from the sea.

1) logic 2) rationality 3) reason 4) attention

The programmer ----------e-eeee an analogy between the human brain and the
computer.

1) drew 2) bore 3) took 4) put

The --—-==veeeeemmx of the editor’s comments made us think that he hadn’t really read
the manuscript.

1) intensity 2) ignorance 3) tolerance 4) superficiality

The two boys tried to sound - --- at the police station, but they weren’t really
sorry that they had herded the sheep into Mr. Ingersoll’s house.

1) resistant 2) impatient 3) regretful 4) indifferent

Though he spoke for over an hour, the lecturer was completely --------=--——-—- and the
students had no idea what he was talking about.

1) solitary 2) inarticulate 3) curious 4) effortless

For years no one could make this particular therapy work in animals larger than
rodents, but now two research groups have demonstrated its —---eeeeeeee- in dogs.

1) efficacy 2) restriction 3) sympathy 4) vulnerability
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10- The African elephant has become the object of one of the biggest, broadest
international efforts yet —--eeeee to turn a threatened species off the road to
extinction.

1) intruded 2) explored 3) mounted 4) compensated

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists first recognized the value of the practice more than 60 years ago, when
they found that rats (11) =----mmmeemmenes a low-calorie diet lived longer on average
than free-feeding rats and (12) ---sescmemcenen- incidence of conditions that become
increasingly common in old age. (13) -=-=--emeeeeee- ., some of the treated animals
survived longer than the oldest-living animals in the control group, (14) -=-======nnmn-
that the maximum life span (the oldest attainable age). (15) -=--=---eeneun-- merely the
average life span, increased.

11- 1) were fed 2) which they fed  3) fed 4) feeding
12- 1) had a reduced 2) they reduced

3) were reduced 4) that it reduced
13- 1) Although 2) While 3) What is more 4) So that
14- 1) meant 2) which means 3) means 4) it means
15- 1)no 2) nor 3) neither 4) not

| PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The centre of Arabic intellectual life was long fixed in Iraq. the ancient home of
culture. 'a palimpsest (as it has been styled) on which every civilization from the time
of the Sumerians had left its trace." A meeting-place of Hellenic and Iranian culture, it
had been the heart of the old Persian monarchy and was the seat of the Caliphate from
750 to 1258. Baghdad became a greater Ctesiphon, the capital not simply of a State but
of a world civilization. Perhaps in no other region of its size could such an
extraordinary variety of belief and speech have been found. Jews and Zoroastrians,
Nestorian, Monophysite and Greek Orthodox Christians, Gnostics and Manichaeans.
the pagans of Harran and the strange baptist sect of the Mandaeans, all mingled in the
same province. In the Arab camp settlements of Basra and Kufa the Muslims first
found leisure to devote themselves to things of the mind: here was inaugurated the
study of Arabic philology and Islamic law. In Baghdad the Caliph Ma'mun, the son of
a Persian mother, founded and endowed as a centre of research the Bait al-Hikma, or
House of Wisdom, which was at once a library, an observatory and a scientific
academy. Men of many races and faiths contributed to the fame of Baghdad as a home
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of scholarship, and Arabic civilization never recovered from the sack of the city by the
Mongols in 1258.

Which of the following best describes the tone of the author toward Baghdad?

1) Laudatory 2) Negative
3) Critical 4) Ironic

The word “its” in the passage refers to - -

1) Iraq 2) civilization
3) palimpsest 4) time

Why does the author mention “Ctesiphon™ in the passage?

1) To explain its civilization

2) To discuss how it affected the world

3) To refer to a city greater than Baghdad

4) To illustrate the significance of Baghdad

According to the passage, the study of Arabic philology and Islamic law started in

1) Persia 2) Baghdad 3) Basra and Kufa  4) Ctesiphon
It is stated in the passage that Bait al-Hikma -----— ——--.

1) had three functions simultaneously

2) was home to many races and beliefs

3) was established by a Persian woman

4) was a library which turned into an observatory

PASSAGE 2:

From a European perspective. the first explorers were engaged in the settlement and
discovery of a "new world." However. the history of the United States is but a recent
episode in comparison with the history of the North American continent and its people.
Between 54 million and 2 million years ago. the continent evolved into the form we
know today. At least 15,000 to 20.000 years ago. nomadic hunters began to migrate
from Asia across the Bering Strait.

By the fifteenth century, when the European nations were "discovering” America,
the country was inhabited by a minimum of 2 million natives. Most of the tribes had
developed some Kind of agriculture or fishing while remaining as hunters and retaining
nomadic characteristics. They roamed the high western plains, hunted mountain
valleys, and farmed along the rivers from coast to coast. There was considerable
diversity and there were several hundred different languages among the wide-ranging
tribes. Several tribes, such as the Iroquois, were very successful in achieving political
unity and extending their influence.

The native peoples were well adapted to their environment. and without the aid of
the natives, the first European settlers might not have survived. Many native
vegetables. such as maize and potatoes, became important staples. Moreover, native
trackers guided expeditions and taught hunters and explorers the ways of the land. For
years, U.S. history began with Columbus, but today the cultures and contributions of
the early inhabitants of the Americas are studied and acknowledged. The story of
North America begins with the true origin of the continent and its peoples.
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The best title for the passage would be ---—e-ee- -

1) The Movement of Europeans Across North America

2) Early Agriculture in the United States

3) The True Story of North America

4) Joint Efforts to Discover America

It can be inferred from paragraph 1 that the Europeans —---eeeeev,

1) mistakenly regarded themselves as the discoverers of an uninhabited world
2) were not influenced by the early inhabitants of the Americas

3) had well prepared themselves to live in a new world

4) were the first residents in the United States

According to the passage, when did the first inhabitants of the American continent
started to live there?

1) In the 15" century

2) At least 15000 years ago

3) After its discovery by Columbus

4) Around 54 million to 2 million years ago

All of the following are true about the majority of Native Americans before European
settlement EXCEPT that they —--—--—--,

1) didn’t stop hunting

2) had started agriculture or fishing

3) continued to move from place to place

4) had established permanent settlement

Paragraph 3 of the passage mainly discusses -——--—-—-,

1) how the natives adapted themselves to the American continent

2) how the native vegetables helped settlement in North America

3) the contributions of the natives to the European settlers

4) the difficulties the European settlers had in the U.S.

PASSAGE 3:

A remarkable change in the balance of forces between Latin Christendom and the
Islamic world took place in the eleventh century. Up till 1000 the West was a poor.
backward and illiterate region, precariously defending itself against the assaults of
barbarous nations by land and sea. The Vikings raided all along the Atlantic coasts and
far inland, while the Magyars pushed their nomadic ravages as far west as northern
Italy and the Rhineland. All this while. for nearly four centuries. Islam enjoyed an
internal peace and security, untroubled save for domestic wars, and was thus enabled
to build up a brilliant and impressive urban culture. Now the situation was
dramatically transformed. Around 1000 the Vikings and Magyars were converted to
Christianity, and so far as the West was concerned. the age of barbarian invasion was
over. Trade and commerce revived: towns and markets sprang up: the population
increased. with a resulting rising demand for food and clothing, and the arts and
sciences were cultivated on a scale unknown since the days of the Roman Empire.

At this very time the immunity of Islam from external attack came to an end. and a
storm of nomadic violence broke over it from Transoxiana to the Maghrib. In 1031 the
Omayyad Caliphate in Spain collapsed, and after a terrible interval of anarchy, during
which the Christian kingdoms pushed their frontiers southwards across the central
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plateau. the Spanish Muslims were forced to appeal for succour to the Murabits, or
Almoravids as they were known to European writers, a Berber confederacy from
southern Morocco whose leaders landed troops in Spain in 1086 and whose rough and
semi-civilized fanaticism came to dominate the Muslim West.

26- Which of the following is NOT mentioned in the passage as a factor affecting the west by

1000?
1) Civil wars 2) Poverty and illiteracy
3) Magyars™ invasions 4) Land and sea assaults
27- The West underwent a profound transformation in the eleventh century due to -—=-eemev,

1) an increase in its population
2) translation of Arabic books into Latin
3) conducting business with the Muslims
4) conversion of the Vikings and Magyars to Christianity
28- 1Itis implied in the passage that the arts and sciences in the West -—--—--een- :
1) fell out of favor after the Roman Empire
2) were in conflict for an extended period of time
3) were cultivated in the Roman Empire for the first time
4) were unknown to the Western population before the eleventh century

29-  The word “immunity” in paragraph 2 is closest in meaning to -—-----—-,
1) integrity 2) invulnerability
3) prevention 4) saturation
30- According to paragraph 2, after the Omayyad caliphate, the Spanish Muslims ----------- =

1) created complete anarchy in the Christian kingdoms
2) were defeated by the Almoravids in 1086

3) asked the Murabits to support them

4) were suppressed by the Christians

i aSay) AL g |gladid sl Y B -1
1398 o0 99l Lo St ST 0y 95 o0 eSS 4z iSS £35S s L ()

39550 (Lo 508 9395 Aslys S 1y il gl 4 (Y
g ys0 O 3l Lad o g 95 o0 S &5 0Sa gl S0uS L (V

139 g0 3gil 15,08 5 3,95 audles CunSld 1,5 S jls 0 acjlie & (€



Y axio 917A (1Y) o5 = 0,6

o) A Aaddl jgpu ) g Glabl LS Wpala (1B clgia (58 L Jdal LEAL 0985 L Gl 08 5 —TY

rel i) () ade ATl Galdy) () ol <o giaa

B 4 ol 0 e Jolis ;W2 iy ol ) Rt GBS Ll i Lo o &5 oK ()
Sl ) gl ploebl gy (285 Gl 4ol 58 g wpee (SEE e ) glogd rakas (5595w 4
MLAS oo il g Sty

5 s 44z Lis colo az 50 ol Gy 5l e GBS Lis 4 (g ks ol 4Sdge e (Y
il plisebl 2l Lid (895 4 ol pn 5 900 ol (G Cuany 2l 090 el Ry 55w
Py o ol ol g Sty Conn oyl

ol 4 S Sgdge pler Lis Jal 15 o8 o ol ) it w6, ol it Lis 4 (B (T
& &5 Cdy et g Nigh a ol SHKLa g Oy Cuoms adge lod Szl lisel Lis sbes o
gl oo ouilaS Cutrg B ke wilazaly liabol Loy Sg>

e & et dzpn Lid 4 Bds a5 Sl i ol ) gl s So Lis 4 &5 25 ) (8
gl At 5 4S5 it ol (g3 g dz p g 09 00 03 SISEL Bk il Glall 2295
R s

pialass o o3 A3 oL ladl) ) L a3 cagd Al LIS o 08 4D 3k JS ) ledy) » -YY

:“!H"k;’ b O Lasy)

S B @ 2S5 (e Hlojlys (Bl b ausls & yk e L) S e G ()
s o5 el b (s 4501 (90 S Lo i ) 3T B gy o8 s S

1y 3l S s 1S e (230 L il .0 oSOT 51 S sy gl 40 (G ) 5y e (Y
by s oyt Ll L G151 L8 S Lo ol ) il 87 S sl f 00 87 g

) A A (s iy B (IS B b ST ) g 08 @il ol 0 ) slius 550 4 (T
1ls anlys- olelygos ol b TS s 3 i |y W LT 45 S S f 3l 0038 i

(2 4 lian olST s (s (2low b Ll 0)y0 40T 51 18 S Lga o 0 (slaiun (o550 (ol (&
WS s | Ll ol b o888 51 oy b ailys ol 5l g 05 s



A axio 917A (1NeV) oS = o,

o Al e oyl Blaa Gy Gigig LSle JB A1 D) Lgda G Lalh (b ey il aaks » - E
! il ASlaa
ey Ll olzoly Bl it oo eajpm o 4 &5 alKin 5 555 gabo ol e p Ll 4 ()
b33, Lalcs Lilp! rasj s g2 g 091 005 428" illagyen
slialy (I3 i se Suo5 oyl olioly 4 45 ST 5 288 0 |, ol o)y eShas 1 Sy el (Y
ol 0y oty C)i 2o g 0dld F; (g5 el Sewny
oldoly J28 BLE 5 0,08 ooy (raejm 235 51 45 8,5 ol |y ol oy Sles L5 pabo (¥
153,8 lalus Ll 53 cuily s g2 0318 7, (59 ool ey
3 san e b Ll olioly 15 il oo Ll 4 (2 g okl )8 e bl el 4 (€
M 0yaz )k Umpip 2 P ol g 00 £ ikl
t AT G 00l Lagd o gand) iyl JuglBi Al cagde iy 4l Uge 43 agiad) sie 558 Alla » — ¥
o sl Gl Wil 5 (603 B0y (ima |y (lusguilr g 955 035 Sty |y ol il iy (090 o ()
g Ol ad 035 il &5 (531 b ol ] s
s ke Gl Gl 6 B0 e, |y (sl 10 0,8 Slias | ol ol jes olass g0l (Y
log: gline w9l Sl 4 ()L o plasguil> ol Gl
gl Sl 28y B 8l il (ggmn |y gl iz ol il 1) gl 3l pme 31 (o8l Sl (T
fohy Soglas 3o 9] !y a5 (g L g Lol 3 G
el lisens Bl 0ler (503 Ll 516 ol B ugaslr (goltad oy 0 gl 5 s e 3l ol (€
139 Siglize id ol tulp a5 g L3 o
hadl) e -
15,90 lays gon yaliins |, wls a5 o5 58 1gdle i a La AKh 4 ()
ol 35 o den ooty plowl (gl 38 Sy U1y 45 ol Jlome 22algh) §p08 IS iy i o i (Y
oS alar s aily Wojes ol (sl Hlilgsad) i GalaB oy e Gl Gus L3 (T
L A H O
g8 gt Abli 5, Kan pl a5 Sloj b 2612 Y 5 Sugl Al Jany b a3l 134 A 0S5 W) e (€
Igd eos Jol> falp 2lds 4
igaal) (56 L« A G Jal gadall diaa g W LSS giia Y asd 4l y —TV
Al et spalall atan 5o 00 Y 4 daie daa 45 ()
5 dall dian (e alac] LB o (Jlaell Aly 8 daglac 538 41 (Y
M 038 A Aakic diaa sl 5o an Y D 8 s L)) (T
I AN e abie] spnaall dn o 5s) aiagd B3 Y 5 508 pilie 5 pat 53 58 (8



% axmio 917A (NeY) oS = 7,6

it Ly 5 ciainn I3 3y Wamd cunl g 050 giie 30 ) Gl a2} S ) » —TA
allamy g WSy e gl o daiile clyl O30 salel agfl lgde Wl Jadiiy 5 g
lall e dgualall e
1iuiie gl D8 S el (amy iy of Alll s (0
taludl of (0 Gl Waail oS il sale) b Jadiiu W (Y
1 e iyl D L) V) adiadd ) el iy e Al W (Y
1R e sahll il A Wil 580 oS 4GS0 G el i G (¢
IS ST 39y 008 azuil &) s U Sl )3 gl (Ggums 1) Shu g5 (oles 5l g0 00 » — T4
o] La dalagd alalsd o oy 4l Sumy ()
il L el aillay (30 Slay 4l Juof (¥
Tolily Ly oy S adalsd (e ol 4 Cuny (¥
ol Le IS opudy il (ge (o301 Ja )l ) a8 (€
> Jlo Sy W59 s Sl bl pasd 4 oS, a5 Wyls sg2g S8l pary —E0
141053 55 gl A U wijgel o ol )ye dam> ol plde 3 51 9 g ol wiile U Wi )5 o0
e Iyt 13y cabia lypemy Ja JU) S e lpays gl sl 13 30 Sl ()
logalimy i Igalas dale
a5 calia lpmpad 5y Al QLES] 8 pamyn oliad Dl s ) Ll (any 2as (Y
o ggaliial | galat dalel
ade lysua W 5 clie aBia lypad <Gy 5 QLAY Ipanl By 3] o G 380 20 (T
Hale o5l Jin galad
L 5 caBie bageal o Jlal) s i lpan Gt Uadd s Lais 31 iany Sl (€
g pgiid 1galad ddle 3 ogoua

:Uadd) cie — €9
.,@g;i;g,wzg,sm_\,(v Y 5 I Gad JW 138 &) (Y
logalgtl Jal HeSEY aganf BLABY) 5 (¢ cleda Ja Ol (S aga B A5S53 (B (T



)+ axdo ITA (NeY) oS = )b

el e — ¢ Y
dagsl e CLAl ) 8 celd) dige §y8 o 40,80 A ()
e 5l Aalid Al L bl a g ¢ alal) (e 36T Lgia Salalli (¥
Gkl 5 Gl U AUY) el GIGS g el 05 Y (b (T
Tajal Giall aalall 5ol 3ol Y 5 Aala JATL Al oda oy 4 (¢
:@&s—t\'
‘*@L:L“J“-mmjubﬂ‘ Jas s (v
Aot md)l b el Gl e OISG jlasil ol DAL djaall 4 (Y
castall o3a A 13) & i) Jel 4 (¥
58 L 4l 555 B el y Al 4 381 4 (¢

160 oilhh it ol 1galli 0l Alages b — £
Slas gsire 5 €l » Juil Jeli [ ioa = Apme — S0 paall = (ol Jsease pd 20301 ()
«lsalls » s
Al Giliaa [ Cijeaia = 550 — (D) ol Juill (4a) S and 5 Fida = S3a 3jia sealiie (¥
23034 3
Glhe Jsmie [ ALYl e — AL Ll eladlll e — Cipalapg aul G0 (7
€Oty » Aldle 5 igeala
Glad Alaall 5 ) Sl pram aleld 5 Jad [ asheall se — (DU e — Guilall slsalks (8
Sl pecall aile gdla
r!alal) g plall Cy adl g Gl S — €0
Die i [ agiia— Cyme— BRI (555 foyian) dgidie o 5 Filie— S e — pud 1 ()
Gigaie 5 €S » Jadl
Olill 4 Jynia o Cipla [ 28yl Cijen — 28Dl Aol el (pa— Cipesiapi audd 2 (¥
Cagiae diliia 5 Cipuaia
Do oA 3 sl Jad) (ge Jad [ (G2l aDle]) Gigal 5 Jine = DB aa— pale 1 (¥
OO el e daul (gl
Lol Aaall 5 sy 5 e [ Cipeaie = Cyme — (ple) djme — 2ala — S0 e 1ol (8
Adlall g i ey Slae Cageate 5 ifla



1 axieo 917A (1Y) &S = )b

il i dle (S Glab g g SN Jaly Eucdd Gla dfidle » —£1
sl Jladl e cale » Jadl geaia 5 G Jgmia g5 (La toytas) Al aud 2l ()
Jw&:aﬁﬁ edgdaall « S » Jeal 40 ,(Lo.k :o)éma) m&m,@:dl.k (\'

2 cleall 4l 5 eima s Jla tdel Gl Giag eima s (Jal taprad) Jeld a1l (T

ol « sl » Jadl
sl «dal » oy g e U el jraia dand ulsl)l o a5 Al Jladl) (e scud (&
5280 o Ll Uadl

sl (A maaall e £V
Ot el [ ap e elaan [ ad  asi ()
g € dpul [ oS0 € S [ Qlghis el (Y
Sl sl clhsa « elpa [ s gl (T
fa € paal [ Glshes  elyaa [ jila il (¢
Jlall et ¥ gl e — £ A

el (e csnl Lo (Y 1owall S aalil ) ()
tall ) day (¢ laSiiany e puiayl Euudd (¥

i sl s Ul A paall (i L«le gl AdlBaal sal AR o 408 Caliall gda » —£4
Lol V1 elBaall aal diis e (oS0l Cunda ()
ol V1 ailiaal aal dais o 458 Cangla (Y
el sY) aliaal aal dai e 58U ada (T
leld sV oBaa) aaf ddis e 48 o (&

fgdlall iy A el oe -0
Lo dmalad) Gl 25e b (Y Leoe canddll 23S0 San 4 ()
oo Alalil) Lalali (€ Loe G A by (¥



)Y axio 917A (11+Y) oS = o ,6

obwb olplg,b

€591 Cawdds 1) €00 SLiaan T oljl 58 9 WSyl )l ALE & 1y o) 85 o SIS ol plaS (ol ! 4235 &

sy ola 3 (Y s 3l e (A

ped ola 3 (F ped ol 00 (Y

1000, do i aigfar Wilo (o) (L) )0 1) (it sla3) 5 slas b Gligile (pmg 5 0 B0aie &
o (F i 5 (V 3500l (Y Olay; O

plas T Caadl 3 ol aiwls g o .5 FAY 50 LS )L o) 50 b h)ed e w1 e s bolails Jlia
ol Jookad' n it 2 (2 iotee 42 9590

S8 (F s (¥ s (¥ 2 0

PS4 €Sl ! 30 sl 0l 0 145 (mogh €S 1) 395 ey oLD (Sinigli | gbipla S L 5
Yol Lixe

(Y s ()

SSde il (F ipe il (¥

Tl ould allgi Jas 4> 4 Jlule oo slaaild e

Jare (5 (¥ Jate sl ()

S0 ssle (F Jaiie el (7

el (UL g g (il 53 15 Ladlil 5l (ol s uld' (ool oLl ol o gy o 4345 &

pgd o3| (Y ped Sigylo ()

oS s | (F s gyl (Y

€39 42 ) sl 1) (5 58 = gy Jituwnn (BLES 1 . (§ pguw 0w Lanslg) 13 45 (35 o> ol
pgops (F gpeadg! (F g e (Y e ()

Eansl AT iyl 4 YU 3l e ity (gpile draler ol
OB Loss - Gl a9 - plage - Gl (0 3 ()
OB Lgs - B Age - 8 3 Bl - S (Y
OB Log - BB 59 - S - Sl B Bl (Y
OB LEgs - Gl 8 - el 055 - g (F

1,5 g0 Plulw ol plas (loj 53 gy 3 oyl by (I 5 (258 & ldoy] o
P> 53, (Y P92 el (1
pows sl (F ke ol (F

w0l QLEL () s Feaele (laly b a5 samy (ALESL @ (5,010 pIWS g 1 o (i S Siie &y
g owSaz ol At slgyleyd gl (BLESL Bloj 43 995 zhe

Aeyy = oY (7 A= e ymls O

Olree = MYy (F Olster = g y3ls (¥

-0)

-0y

-aY

-OF

-00

-oF

-&y

~8A

-04



W axio 917A (1NeV) oS = o,

Flamwl G 30U (g oile (90 a8 pauas )0 3 90 plas  —F)
Ay oo ke |y axles B0y5e 9 4SS BLSeS ()
A3 ,S oo 00w 4 pe 033190 las ;o (Y
Dg GELEes aise OIS o (7
22288 o0 009 O b jlad I ey (F
flaw! ouds (5 kx> Wlodlgils b ol jod g 00l sy i 53 Sl ol plaS L p M0 -FY

P ol (7 Sl i)l ()
P ol (F g gl gy (¥
o9 Slwlw 590 jo Sidalu Uadlrs gyl (390 plas  -FY
VLo lewsS3L (Y Mo gy O
Nl gL (f o dealows (F
flwl ool dilgi old pluS loj j0 9 o d> @ o glasl ey -FF
o5 syl Glole 5 IS sele (Y - Plole sl (O
w5 ol - ilol 5 IS (gsles (F w5 pl - ol sales (7
Caml oial 2,0 DL plas 10 gl LIS & 4> 3405 Uiy -5
Skall g ool ) (¥ Ll g 2, Y Syle (s 5 ()
olald! #g23 (F Jlakal! L (¥
sl ol QLS plaS )0 Sl 4l S0 op iz ey —FF
i 3 S5 (Y asldl gls )| ()
e (F Sk ulg, (7

£330 il )9yl (Gl Fwgr b Sz £ 950 9 4dlo mhor (AR5 5l (lg peigil g yuns Al 390 plas PV
v I C‘)‘* 3oy 3l il 28, 0,k ()
ol by I 5 B L }-“Li‘l)"'; oS (Y
Oleasd g Sl oo SBS! jo il dlslos (7
ool Ja Sl b a4 o8 5 535 bl oS00 CF
fad il L)l pb s o idabs 0,1 ud ) g ) yecianl b d ol pwdarles albogi 0 il glg ke plus ~FA
52 )| (¥ pss el ()
Lo et (F inaikssiis (¥
Tl €Dl ailin 1) 055 JoladaSw 2 ipg) y9il el plas 74
e Sl (Y Y118 (A

ol sl oS )le (F 95 egenias (T



VF axio 917A (1Y) &S = o )b

Pl S il 30 gyl Cilgh ad Sz 039 1.3 P Sl 50 «alglanllglsn 3y 0 59T wd eI Ve
i ges ST 1) audge
IAVE) «:’)“"us‘ 21y codas ()
WaKaz Ml ad b jesl b ol en (Y
Wafax jeil wd p oladll b ol pen (T
W3g 03,50 & p2lgs Ol pl (p92> Gble 4 jere o) al o (F
fog oud adly b plad )0 (KGN 2,99 50 Lud jeld ((uSHl> japl )15 & V)
SIS el (F CnagS (¥ was b (¥ astad (A
Wad 3 b (Lol 51 Sy plas Jlaio! sas 58 50 4 390 350 Cawdts 030> 3 o2 ST 2y pileyd il (UL VY

99,:)"6 oale h"«-'u-i

Ol 35e g Slnls 5 (¥ Olusin 5 ol jelans (0
obsils § plledews (F obdst 3 Ol (T
ey w5l @ YTTe Jlw dgas 50 (Ml daladio b (o y Ba3 (oaM! (slgyile 8 plas )59, 50 -VT
g (¥ s ()
byl SagS (F gragiioaia (¥
ol 03,51 (Mgad & (o3 ol plaS (Lo 3 (py9e (ygilB JSD g0 0 (ygiw VT
w5 s Sy et (¥ w5 Setiginl gisls ()
o5 g 55 (F w52 o ety (F
Wiy (ous 4z planil g Lilbge 1is S g0 <o 1) o 4 (Gt 93,10 o line 4z € )IS» (LS gl )59, 0 -V
(1320 = ey Oolakad (¥ g - ol Gei> ()
ol = ey lalad (F oollis - Cull 3gi> (Y
Ml go U

Tl 0 0310 Wi axdly plaS b 45e & adud ol y> Lo Sl 3l o ,U ulio o —VF
Aoyl b 25 S STaa 5 laslidle ()
o 0 9 1 ST Ja35 g 3l8 andly (X
P4 Sl ol s (5,3 £t (F
el ;o Ul glajlai 5 aSs o pblabus Slaws a5l (F
€0, dinio (il b 3971 yool epidd il b 1y (sl A1 Sellinn (ylablons o9 (511 o yond p010 e VY
Deld wois Sdles oy Vere b ity ()
slas a8y Slles 4y 1, anSUail aals il (¥
ks pliel pas & Slas plslow (Sl sl ) Slaaile B udlim (F
lad @alyd jhey &85 1) Glond G0 (gla 225 jsee JIG! uilin (F



10 axieo 917A (1Y) oS = 7,6

flwl G )3 (ol CNS L 3,0 pg) sBSSs pgas )0 3500 plas ~VA
5 2hen. Al iy g bkl adeli o a3 oldols LA o 5l eliite: i SR 0598 58 ()
IS (B0 psy 65 el plleba g Lo ST 5
Sl slolis 4y a8 3 oy athathaud s B 5,5 pg, 45 ale> g1y pdlal 231 ol 0 obie gl (Y
S e ghe il
egF g i ) adals 00 5 05 dlax 2l 58 4y wle jaate SIS 590 (0 ()0 pg; ) (T
SR
S ) Gblabs 5l (g )las 5 w335 oz @l g0l 0 (3,0 0y (oanj s jl 1855 j9aie By90 ) (F
il Cawyol il Sl pguas )0 390 plas -V

R a3l o Jlal gl il S (Y el J9a> dudy il =8 50 Sdle (A
L A ) awdls 5,5 ;0 Sk jga> waled (F D9 media Hleloeds 31 Sgep 0,0 0 Sl (Y
ol dap oo plo A8 g S Slybl BLS slagly jo alad plas @ 5o 8 ()l S5 A
aclys (Y SO
draso 'y yele o (f Hlakas (¥
a0 g )l 9 0y (puinndts jl il ST plaS flaiy 8 —A)
Slas (9 dams = 2y (gl G dans (Y w8 plake - s,k 300 ()
i o plede - > o e (F pls O = Sl (2 leda (T
o oy (7531 55k 2 all) Glommuns b ((2) 105 Jgu) il plas )0 —AY
Sg 093 (¥ rers ()
Jadl aegs s s (F Al 093¢ (7

10,05 o (slgme p SN 3590 IS 5 S (g o0 Do yegi (ol LS IS 50 1) (i ge il (S0 aluil Soglll AT
dias gloatsnil g e o] - logall ()
ol o Sl slaas il gl S LSI(Y
Ol oz i 5 Gy adgo slaad BT ol (T
990 § sred sloatanil g C Jal ST by Lo 32l (F
fowwl Lol loy 5o A8 o 258 02ilo 3 5590 plos —AF

s Gy &8 (Y o8 'y ooy ()
7o (2 > (F e (Sl (T
Fold pli az (0l g0 4l )5 ol 0959 51 lakw jl Cuas ) Sy Slloo Clgd j0 A mais —-AD
eyl (Y dygi psl ()
JLRC P Sty el (F
Sogs sl 31 b 0 yal1s 052 50 S CangSo (SIS 31 Sy oIS ol piie ST -AP
oo J1(F oaxs JI (¥ ad J1(Y au> J1 (A

Yol g0 aaS €aols sludr awlie SN 5,90 Jo e Egiplas a —AY
ke Gl Hly sl (Y S5 sla s ()
d‘o)éLna Gl“u:“) (f ulhl... A 6lhu:.n) (¥



VP axio 917A MY) oS 2,0

o1 JuKls CaogSo del o b lojud sleadlls 31 553 plas
e o (Y o> oy gle ()
aglae o alae (F N o e (7

Flamsl G 30 ol yauo 205U 30 €Ol jler Mol (i i 30 590 plas

(£) e cuegSo> Cou ablie 4 ayglas baugs a5 o)l 5 Feu 50 slaeg 5 pliel ()
Clal> oj90 )0 S0s bLE B e 4 ald S LS S (Y
A8 s S Ko o 0 Sllehes bangs a5 eulis asgoazma (Y

asb Ol lawgs o1l Gl re Jsbar 5 o)l (F

il 0392 I plas 4 el & o ) 7535 dad 80 S L3I

w Sl skl Ghose o8 ()

oo b Ul (pads 5 3L ol )i s, (Y

el g by 5 (o) o Jom) b la oz 55 (gaiglings (T

Obdse #0075 g gl D98 pizes g U B g Al b Gl B S, (F
1008 (omlar (o 4 dinly SlacgSo Cowd 1) pan iy o abld ddls plas

bl yaly oS> (¥ W s ()
S Alacs (F Al cpadias (7
(o (o 42 Car 0 (59 ldly sl dglae 35 () (e © pa> ol 58] poi
sl dilase o s> (Y S Se ()
i ot Jap (F ol (p s (T

ols Ll (guar s uiSTy (p) ol D920 ply )3 12 9 Jloj a5l o 9

Ol oezee pdlul golazsl alsa b cullie Sdeds - 030> (53,5] a5 s ()

i OBl b () by 3ol 5 Sleds - i pg o 5l e (F

8 olee 3,8 5 S Cleas - laiglin g Liges EN (Y

d>gi sloixl 3 515 ) gl Cledsm e Diged 590 (F

fog aip 30 Uloduss (g9 hn By Jol Cle 3550 plas dnol v 5,90 40

Oblebass plp o wis 0,8 4l LS S5 LSS 4 oloat ()

SO 35 e 40 D8 plalo u Ko g0 g IS (Y

AR S AR meld p dee CBAS 0 (Y

ap o)l 4l Ll So .3 (F

fad adly Jlw ax 50 lleduw poyhad OIS ey

& pes (F Sl pa (Y S ey (¥ Sl i ()
b il @ lie g Olgd g 8 9 o3 Gl T g o jad g Lad L) 50 (Sl )b b Lgel 8590 )0 & jine
faioly pliaz 1) 395 g w310y (2g )5 4

Jus g degi ol 408 (¥ sl Jal - cus ol (1

olea! ol - apay; (F sas g Jo ol az> e (¥

~AA

-AR

_q.

-4y

-4y

-{y

-a¥f

-a8

a5



W axio 917A (1NeV) oS = o,

FO900 Camadi 1) a3 233 ¢ o pluS (sl b 23U o e -4V

L (f Ol (7 Gags (Y Lll.s ()
Tl a0 3l oo peas )0 0 90 plas —9A

Al AZAS sde ol jlSka (Y A a8 ol o dilas ()

297 S8 oal Sl G el ! (F D e ) (s (T
Tl 00lo 7, « Slode ylalw plus 5,98 50 (g 3990l o polxs -4

pso w b (F Jsl el OO

18 dama (F el Hlado (Y
] ) gteian (gldadly a4z @ 12 gljlai JLlS Ve

sgasf Lol (F Zap wbua!l (¥ 3gad il (¥ p)l Glal (A
olez gl

Sgad Lyl 1 (53 98 A 53 Ll | Jiiuns 59 sl 53 1) G (3 yihet 9 (3 et (Ll guslons 5o plaS 1)

=ite (F Lgilel ;52506 (V Sl )5 (¥ 5935 O
fnaloul (oapde ()PS0 @ gl (2ol slaaloail g 09217 ()8 )0 Lyl oo 8 (3 Jidg 00 (oS a2 10
oSyl (F gy (7 59 ol (Y ol ol O

0,50 JLin |y (Fan 4z g o9 o )5lS plas I JSie (e IATY Jlo 53 Fige il jais 1o
dovg) S9di b ojyle = g 5 il B (LIS
e bl Sl a5l s Sl g (F
! SUL 2 g 8L 055l - (2 5l 5 demgy g (T
hoie g ol (5l)3 )0 iy (ol a5 LSl g (F
il Costrpmmne e (sl il g1y9a 5 ol A () Jindee <090 plas -)oF
@obe Jlos! gl 15 by S8l 25,15 o5la! (4
23y SHP glods wlie foa oy Ol sass (Y
SIS ol Wilie ool ot 9 Ob ol8zus azsl auls (¥
eSS Sj90) Sla S 0 (555 jsel 355 g b (F
€l il 0303 (5 98] aaadas JIAT Ly a4z 140

P Jeilras (¥ 5 Jedgti ()

ped il (F Soka! ulegs (¥
€013 s predlonsgs 3y [y (S Lails (55 i) gyl (ol SKsS (50)9 Slale d -\oF
Sl Dl sleasl p Sudise pas (Y (# 1AY4 =YY ) Sl ol ()

P VNV Jlo jlan byl S5 slags,gilal (205 (F S tls Sl glaaali p Sodiga pas (Y



VA axio 917A MY) oS 2,0

fog 4z oyl Zuli g Widgs L el alus (8VA0 Q) p1 )59 550 cpud o —VeV
S bl SYL! (6T S8 g (sl s 51 (25)) 95 a3 CeaSil - 2 Sl 3 ()
ol VLT (g IS8 5 g 5o (grhl 358 Jauy - 2 sl el 3 (Y
9t G g O] )0 Al B S0k day 5 g S g A (F
10,8 pras 5l gz 9 5 E97 9 Ald Sl oy a3 (F
€315 51,8 SLASI 5 590 1) Slall LuSe pluS 095 Mo gy LS j0 Gl plol 14 A

eyl (¥ prellesges ()

sl ol (F p yebeilS yo (¥
Cog Glode pliakw Jol 23 5,99 30 asilailand @ alo> )3 53l Jalge 51090 plas’ -)e4

oy 55 (el Sz a0 (7 Sl g Ngamefan (o ST ()

wlyimde gbyo 4 (gw s gly oo o dloo (F o gl & G )55 50 sl e (¥
12559 25T a4 5 sl 5 NS W1 5 Gilode Clgd jor & a3 plas NN

Olygl dasles (Y ol oilas ()

il plo sasles (F 390980 ke Sle (¥
Tog0i O p>lge aid @ PVOAY 2445 Jlu 50 olol 003190 annd i p plle plas Wi Vaio jloll pu8T ke 30 —1Y)

S Fgs g S0 (F wielalllae ol (Y oI Pl (2B (Y gy il )las] (56 ()
Fod Ayl S 42 Jawgi & jless! wleol yeill —1IY

Sl i (F OreeelS (7 S (¥ S8 ()
Yol Cuw)yd (Riopact) "o ) Gl pgas )3 5590 plas —1IY

wba)l Jgs Om (20 ploy (Y el Slaa (s 685 oy ()

Ll sl g 15 pal (685 oy (F byl Js 5 K el el oy (F
el el 33 o) SloMol chio il puili e 32 390 plas —1IF

ldl Bl s (F Sl ol 4 Jerll ez 5 ()

SISl GlS L gyl sleds L] ada (F Sl sla f g8 (T
LU PART IG5 T S-S0 [N I JPL PNk JUUCINE T | 9] 1 OCTR | 1

ol (F omadgm (Y ansl @ (Y Sl (A
fmal 1S (1 e 5 0 7 e (o 4z Ly o dneler sll 117

S pat - Says gl ppal iy S (T Szt - Sl eleal L O

355 = Syl sgaz ) gl (F 355 = Syl jsgaz sy g, (F

ol oy il (g 33 g)ka (ol plli g L (o gas )0 5 50 plas )1V
s 03938 B1LA1 & jad o ke plla o ()
2391 39294 9 (hne ragS Uy o ol (Y
wsls co s hles anazellale gl IS alwil 44 SUgy oL (Y
oo bl 5,0 5 Ke384 lg ol Sin B 3 L (F



19 axio 917A (1Y) &S = o )b

flawsl (VAY @ =VAND ) Lyl 50 €5 oo pas» sla g 51 0,90 plas —1IA
2ba)l 5o 50 ol aljl slacuasS> (51,5, ()
mnlligils glaaiilys 5| o, Fol> (Y
stbo)! lenial (5 2F g 03, (7
bg)l > (DEI S& (559, (F
15 25 slandly a5l s i)k 4059057 4 paawge duilyd 9,000 (le> 5 900 pld -11A
pa Osthl 581l T (Y g el cess ()
4oy )5 S (F TR N
ailed )5 g1l olaiedtiils plas 1) e § Carmab il clive Ob o "' ail 4 " Y.
o9l g ,oS1LT (Y sl g mdSgal ()
S S 9ad 5 gl (F Ol 5 eelnd (Y
$o90i 7 axdlg plas 1 ale ow sl -1
LSl ade pag slapldy s ol (Y ail® lawgi (39 9 7o slo st Spai ()
g 5 2ile (slacs jpax IDlEl pYel (F Bges Lasgi lall il s 8y (Y
ol g0 @b ol bl ax 4 bl Ug awed jo €S9l —\YY
«zl..:'o._..{;.aplﬁi o),..; (41 U";] plas o)‘,..' Sleasils 3 ()
U_ﬂ Laos b Slbl glaiszes (F G Cagd S sla 225 laasle 8 (Y
390 PN Jlo 50 STl lascamlow bawei " Ja2" (suid Ml G JuSidd 3l dan 1YY
Olagain 4 (paade dlos pliel (F Olnl & (ordde glos pliel (1
oSl g lagais (o (55,3 Slowl (F 5 Ol o s (7
25 Guad 418 (2l gl HaiS plaf (golaidl g (JU )5l ©)a8 & Sl 53 Jgel )5 4 Gl il ployin AT
) (F Loleo! (¥ al s (¥ ala ()
Cog Il plas ol 15 cyabodl Lg )l 2us b 5o 1Y
s, (F gy (V b a5 (Y S50 ()
oMl 0,90 ol )b
Tl ol 42 i yids co3 1o g ybiladuns ol & adlain LI ool 1 dry cpaiancii Wodas 33 ~1YF
gl - e (Y wp-gl» 0
u._..lai_).:.;(f L’:'_C.LG.JUL.(\"
foawl 4y ) Lo plas @ oMl padis (yese j0 € L0 pegdo —1TY

Ol e Joxa oE0150L 5 Slesgs ) ()

pills> o @l o8 als Slasgs (Y

Ao 33 e (2> 5 $99)8 0 45 (55 (o)l o (T

RV VDTN [N I RE | K JOR [USCT 1988 RIS 020 [ PR



Y+ axio 917A (1Y) &S = )b

fad odaz y (B35 43 by 9 50l yual IS (4o )3 L 3 (bl el —1TA
ke - olb o dblae o ol (Y oblas - el o ablae ()
asghe y ohle - dblas oo pall (e (F acslas - cadn (G (el (T
29 G0 o)l S (b (5£) jekgl BlS 5 il ()10 pll g Cadumo (23 3 () )15 [ diiems —ITA
Ceamsl ol i1 plas
Aol Kalisauwi(Y oMb ol &l s ()
& 7dael Slles 5 Sl (F o> ool (291500 (T
sl o y3U iy 9 U5 )5 JUS 50 (59358 Sgeme ik Sl 03150 13590 plas” 1Y
S5 oo adlaie 4 allai (g9 plisl s pladl o)l GLjLj Coadse usl (sl el (1
25 sn $)0053 LB j5al yo SEs 5l 6187 E 5 (el (55 Lk el (F
g hlate gl @ (2 5 Slolabs 4 (a8 5b)b; adoe rge 458 Gllale (el Slag (T
g 03,5 bl blita plis! y (stee g aly cailate ] ) wig 1 3980 5) (g T gl jgbinasy aizé bl (F
298] 3o 431y I 01> oy 3l i By oo cbign ST CuogSin 5390 33 (s (slrad 31 SaplaS 1T

oamils plo> «oM g olie
doda Fot (F Gy G (¥ w2 s (F gl & ()
foamy Oldgada ©)l59 4 (oadde 15 42 b g Comald plas (Slallplli 4y Jo3 51 g 1YY
5L - SLall 5 (¥ LS - SLallge (1
csaat = walsillyl SLlels (F i = gl Shallanus (¥
fud aawls Sexd voxe lalu 599 30 W)lj9 (e s illbg 9 OIHLas1 5 plo 31 ol plos L5 L -ITY
Calan (F 2JS5s (¢ ke Sl (¥ ple; Slees ()
fog a> ol Oyud jls Ll 50 Sleadl Sgiuws adsg -\TF
oldle sS40 5 6j5laa o bl (¥ aols glopiea; g BByl sl 5 Fu) (1
Oles 9 )L )18 5 (el o il 3l o ol (F ol SIT)J05 agi g pleallas plicd g l0 5 (F
) adals Lol pledl o pulae NS S0liw 3 (53 )9 e (Il Fead b 05100 43 ollin)lgs oo yllale -1YD
€0 y0dd ) (Slols 4
3l 3l ey 0 adlelan! b Swoqea (Y Has b sles 51 Sl (A
olie) )l anle (> Slas8 L sl (F obalie;)lss ade 0l )98 S 2 (F
o & yad plas b (28 Jlodd slojpo )0 QULRLT (650550 11595V 90 3590 50 -ITF
Py Oliszla (7 sl uglsl (O
Slate)l (s g (¥ >5> ool (7

il S yd (5L ;0950 pguas y0 a3 el Y'Y
e OlmlySl ot 50 v ldsmlas 850 50 45 Gl 5 5 glanws (0
Al CoeSu s g leS o ladkaia (0 4T Jere ! slaall (Y
s oo e @l )0 1 SlBgaela 90 )0 45 LS il (glans (Y
wikal oal &y S Jlad 51 45 Joke 3 cglaislls (F



Y\ axio 917A (1NeV) oS = o,

fog dx aglig ol 31 CungS> 41590 13 € 2lgi oleo» Lol dilsg -\TA

ol oo 5 Slle Jgeog (Y b e DLl alowl (A
ol slag 5l Jlanly g S5l Ay (F ol Slelie 4 & jgu (slac! (¥
Tog 00l ol | s gieo CangSa (5 )Vlw(ylee0 9 5 Ve w0 srais (wo SIKS (10,5 p ol p ol plas’ -1Y4
o = Hgsled ki s LS (Y dsls )..\.a_v.al.a:}| Jo! (A
ikl Qs — ygilod  ymnis i JuS's (F ks s~ _olazs! Jal (F
ol o @bl 0g,F plas & «ady pb dols o \LMer Pl i gho Clgo ol g 5 0! jLsle jo -\F.
la b33 (Y Lo 2y gl (1
slaai 3 slaes g pladle (F LS 2 5 b5 sl (Y
sl Jal Juklows! oL pas 53 3bighes 55053 o 3U OIS cywiansi 13 590 plaS —1F)
LSl (glge 5l GBI sLaSilex (Y s Gl 5l pgles Dl>g23 ()

S92 el peslpl Gaallyos Sl ald Clognd (F - gledol (s Dlanjy, I 1 el 61 lle (T
Sl 0391 iyt (puSS laalings (slgasds slanilas i 319,51)8 jf old daxid 099 43 F )90 plos ~\FY
ko @l e (Y S350 Goleders | e ()
S9ybe e (F &l (0l (¥
90,5 Jaild po 2918 9 LSy G Cand 095 s9led alS 1 4l Cdgd gy L svalae plus bl y -VFY
ol S Ul )5S 93 e 30 Olgaeds 55139,

WX SloglaS 5 (¥ Js1 (v 54 )
Sl o yands 1) ol aale slalh 4l 5U)5 5 ESIALE b « ya yaol oloMol 31 SKaplaS —VFF

)l 5 ol gd9 ! (Y S8, dngi g P! ()

6)"" Sl (F "Jl.o ),.4‘ t)l-o' (¥

399 bLI) 3 oL (igaele (gasladal 0io b gyl AT ailia] )0 Ao dowd Sl jlu I Syplas” -1FD
fo5 0 &b plpl 1) 05 ! saasl
sl s (F Cead] ol (¥ st el (Y it S ()
€31 59y St ax L 90,90 plas jo SLlol S -VFF
Ol g (0350 slag i - (52l 890 ()
olalsaby,ia g (oo (slag i - abog e 890 (Y
930 o p oSl g LSl (slag i (5 0L 8590 (T
Q';B BB ] Lb‘_r..,Kﬂ ) 55”‘,"‘ 6[&,).:5- old daxs 3),.\ (f
Sld lom ads Ll o cadlasio g o) il glgd 31 ol 2! Al (530 1AVA Jlw 43 313,13 plas —\FY
el czgo 1) Ol b )57 g ) leninsl
Seadgid Cowp (F gSua (¥ G5 o (¥ s ()
390 42 (5950 1N Jluw 50 (5959 3 ool ) Jily; adad cde —VFA
Oln! 03l)al 852 15 (59,00 Sy Saniled BinnaglsS’ 13 g (g peSis ()
e M 900 dalipy 528 0 )3 8355 @ o0l el (F
U (lairmn) o 03lel pae 390 3 $Sie 4y ol 52l (F
1945 93 Laly, akd cyz 9 Sl claladl (F



YY axio 917A (1NeV) oS = o,

Feadls ol Lo joee 089 30 ol p! (slaiuwd slaculad JLET j0 coge i LS5 ol g0 doliy plas —1FA

e 4 SaS b (55,50 (sail sl b 1S5 5] 0500 (0

oS 8580 53 154 pal g Gl dilraen ally, (5 (Y

wad pMel Mo flejla 13 VAOY plws A 0 o jaleinl zlo (sl @il &b (7

pom Ol ) Slaed & (58] jopar pesd) Gguile SaS 293l 5 e 40 el il (F

o9 42 Solta md) Pl S ol Jole (pluelal pT ity 5

Slaasg slaasliy 0 5,5 Ll e sl (Y 08l anwgl Cunlew gl 2! ()
Silog slaaslip )3 8lsh 4 ax g g (5,5 o (F Silug 2y g asliy gl o Lo Sl (Y

o



YY axio 917A (11+Y) oS = U




YF axio 917A (11+Y) oS = U




